



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$10^{(-1)} =$

$198,6 \times 10^{(-4)} =$

$318,5 \times 10^{(-4)} =$

$-3 \times 10^2 =$

$116,6 \div 10^{(-3)} =$

$259,3 \div 10^{(-1)} =$

$10^{(-3)} =$

$591,6 \times 10^{(-1)} =$

$273,2 \div 10^{(-4)} =$

$10^{(-3)} =$

$-2 \times 10^0 =$

$685,7 \div 10^{(-3)} =$

$-1 \times 10^{(-1)} =$

$-1 \times 10^0 =$

$847 \div 10^{(-2)} =$

$10^{(-4)} =$

$843,3 \div 10^{(-2)} =$

$10^{(-3)} =$

$10^{(-2)} =$

$213,3 \div 10^{(-3)} =$